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Rttp://130.149.60.45/~farbmetrk/TE5 2/ TES2LONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/9

log AL luminance difference
threshold
X oy
A 0,34 0,40 experiment:
J Y 045 047 po1sA
0,15 0,19 3 repeats, .
0,58 0,32 WA
0,25 0,44

Lg=630cd/n?

log AL luminance difference
threshold
Xy

A 0,34 0,40

] Y 045 047

0,15 0,19

0,58 0,32

0,25 0,44

experiment:
BMO0,1s A
3repeats &

L
SN Y S

Lg=630cd/n?

log AL luminance difference

threshold Lg=

X oy
A 0,34 0,40
4 Y 045 047 wRro1sy
015 0,19 Srepeatss 43 Y
0,58 0,82 (LIS
0,44

experiment:

630cd/n?

A

log AL luminance difference
threshold
Xy

A 0,34 0,40

] Y 045 047

0,15 0,19

0,58 0,32

0,25

experiment:
PO 0,1sB
3 repeats

TES520-7N_1
TE520-7N

TUB-test chart TE52; threshold da&aramopolos (89)

log AL luminance difference -
S L g=630cd/n?
X oy
A 0,34 0,40 experiment:
4 Y 045 047 pgg 15
0,15 0,19
0,58 0,32
0,25 0,44

W
3repeats ’{‘

\
3333

log AL Itlrjlrrrggﬁglge difference ngesocd,ng
- X y
A 0,34 0,40
$ 7V 045047 Appisa
015 019 3 epeats ~§*“\
0,58 0,32 R
0,25 0,44 °

experiment:

log AL luminance difference -

threshold L g=630cdinf
Xy

A 0,34 0,40 experiment:

4 Y 045 047 Apg 15y 0
0,15 0,19 3 repeats ., | A

0,58 0,32 . .5« ¢t

0,25 0,44

log AL luminance difference
threshold
X oy
A 0,34 0,40 experiment:
4 Y 045 047 Apg1sB
0,15 0,19
0,58 0,32
0,25 0,44

3 repeats

TE520-8N_1

presentation time tp=0,1s, 4 observer

log AL luminance difference
threshold

X oy
A 0,34 0,40 experiment:
1Y 045047 pyogsR
0,15 0,19 3 repeats
0,58 0,32
0,25 0,44

log AL luminance difference
threshold

. X Y
A 0,34 0,40

experiment:
L Y 045 047 ApgisG
0,15 0,19

3 repeats
0,58 0,32

0,25 0,44

log AL luminance difference
threshold
Xy

A 0,34 0,40
1 Y 045 047
0,15 0,19
0,58 0,32

0,44

experiment:
AD 0,1s AB
3 repef;\"{s} h m,*

log AL lﬂ@?ﬁgﬁe difference Lg:630cd,ng
Xy

A 0,34 0,40 experiment:

] Y 045 047 Ap 0,1s A.G - Y

0,15 0,19 3 repeats &xﬁ\

0,58 0,32

0,25 0,44

N
3

log AL luminance difference
threshold
X oy
A 0,34 0,40 experiment:
) Y 045 047 AppisR
0,15 0,19
0,58 0,32
0,25 0,4:

3 repeats

log AL luminance difference Lg:6300d,n?r

threshold

X y
A 0,34 0,40 experiment:
4 Y 045 047 aApgisay
0,15 0,19 3 repeats ,,
058 0,82 1N e
0,25 0,44

Y
N

A

Q’Q

log AL Iuminam(:je difference Lg:6300dm?r

threshol
X oy
A 0,34 0,40
] vy 045 047
0,15 0,19
0,58 0,32
0,25

experiment:
AD 0,1s AR
3 repeats

0’3 )‘

~

log AL luminance difference Lg:6300d,n;

threshold

X y
A 0,34 0,40 experiment:
4 Y 045 047 ypoisaY 8""
0,15 0,19 3rePeats.,5,‘>§
0,58 0,32 ‘.3\,(\53§§‘ 3
0,25 0,44

input: w/rgb/cmyk —> w/rgb/cmyk
s, 3 repeats, 63DCAUDUL NG chan, gb/cmy

>
.
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Rttp://130.149.60.45/~farbmetrk/TE5 2/ TES2LONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 2/9

log AL luminance difference Lg:63cq/n? log AL luminance difference ngescd/n?

log AL luminance difference -
threshold threshold 9 Lg=63cd/n?

threshold
X y T X y s X y

A 0,34 0,40 experiment: : A 0,34 0,40 experiment: A 0,34 0,40 experiment:
1Y 045 047 kRo1sA 1Y 045 047 pogisa 1Y 045047 pyogsR

0,15 019 3 encats 015 019 3pepears o 0,15 0,19
0,58 0,32 ..; 0,58 0,32 s 0,58 0,32
0,25 0,44 G T 0,25 0,44 . o> T 0,25 0,44

Q\‘\%“}?“ \,\&‘\\:,&"‘ :

3 repeats

log AL luminance difference - log AL luminance difference - log AL luminance difference -
- threshold Lg—63c’(i/n‘? . threshold '-9—630(\*/"? 9 threshold Lg—63cd/m2

X oy T X Y X T *. Y
>
A 034 040 o neriment: A 034 040 oyneriment: > A 034 0,40 oyperiment:

N
1Y 045 047 pygica 3 17045 047 aApoisa & } Y 045 047 aApg1sG
015 019 3yepears | 015 0,19 3 eneats 3 015 019 3 epeats
058 0,32 3 058 0,32 3 0,58 0,32
0,25 0,44 o < T 025 044 O 3 W T 025 044
ARSI LA Rt
2 !

-1 0

log AL luminance difference - log AL luminance difference - log AL luminance difference -
- threshold Lg—63cd/n? 2 threshold "9‘63“‘/”“2 9 threshold Lg—63cg/m7—

X T Xy T X ¥

A 034 040 oynoriment. A 034 040 onoriment: A 034 040 oyneriment:

1Y 045047 Roisy L Y 045 047 Apgisy > $ 7V 045 047 aAppi1saB ¥
0,45 0,19 3'\uniais 015 0,18 3yencats S 015 0,19 3 repeats

058 0,32 < 058 0,32 058 0,32

0,25 0,44 CA T = 025 044 $ T 044 »

I RN At “k o ‘w.":"
QRN Y Tpar

3

log AL luminance difference - log AL luminance difference - log AL luminance difference -

S R L g=63cd/nf S e L g=63cdinf el Lg_eacg/m?

X y - X y - X y ¥
A 0,34 0,40 experiment: A 0,34 0,40 experiment: A 0,34 0,40 experiment:
1Y o045 047 55018 1 Y 045 047 p\pgicp 4 Y 045 047 ApgisaG
0,15 0,19 3 repeats 0,15 0,19 3 repeats 0,15 0,19 3 repeats >
0,58 0,32 0,58 0,32 0,58 0,32 ,;‘\
0,25 0, T 025 044 T 025 044 AL

\‘\‘s‘.i3

3

TE520-8N_2 TE521-7N_2
TE520-7N

TUB-test chart TE52; threshold daaramopolos (89)  input: w/rgb/cmyk —> rgly
presentation time tp=0,1s, 4 observers, 3 repeats, 63cdatput: no change

log AL luminance difference
threshold
X oy
A 0,34 0,40 experiment:
) Y 045 047 AppisR
0,15 0,19
0,58 0,32
0,25 0,44

3 repeats

0
log AL luminance difference
threshold
X oy
A 0,34 0,40 experiment:
17V 045 047 Apo1sAY
0,15 0,19 3 repeats
0,58 0,32 3
0,25 0,44 Q’s

St YRS

Lg=63cd/n?
N

%

>
"\
~\
s
&

log AL luminance difference
threshold
X oy
A 0,34 0,40 experiment:
4 Y 045 047 Apgi1sAR
0,15 0,19 3 repeats
0,58 0,32 X
0,25 0,44 A
5“5 a3 x‘

Lg=63cd/n?
N

83
A

log AL luminance difference
threshold

X y
A 0,34 0,40 experiment:
4 Y 045 047 yRo1sAY
0,15 0,19 3 repeats
0,58 0,32 W
025 044 &.‘n{&\

GR SRR

Lg=63cq/n?

S
3

,‘\

>
W
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Rttp://130.149.60.45/~farbmetrk/TE5 2/ TES2LONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 3/9

P

log AL luminance difference - log AL luminance difference - log AL luminance difference - log AL luminance difference
S A Lg=6,3cinf S e ot Lg=6.3c ¥/t s e o L g=6,3cd/n S AT
X y - X y - X y - X y
A 0,34 0,40 experiment: A 0,34 0,40 experiment: A 0,34 0,40 experiment: A 0,34 0,40 experiment:
J Y 045 047 po1sA L Y 045 047 p5giga L Y 045 047 gygisR ) Y 045 047 AppisR
015 019 3 ranears 015 019 3 neats 015 019 3 neats 0,15 0,19
0,58 0,32 0,58 0,32 0,58 0,32 0,58 0,32
0,25 0,44 T 025 044 T 025 044 T 025 044

3 repeats
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1 v 045 047

log AL luminance difference Lg:6,3cd/n12

threshold

X y
A 0,34 0,40 experiment:
BM0,1s A

0,15 0,19 3 repeats

0,58 0,32
0,25 0,44

1 v 045 047

log AL Iuminan(ée difference Lg:6,3cd/n12

threshol

X

A 0,34 0,40 experiment:

KR 0,1s Y

0,15 0,19 3 repeats

0,58 0,32
0,44

1 v 045 047

log AL luminance difference Lg:6,3cd/n12

threshold

X y
A 0,34 0,40 experiment:
PO 0,1sB

0,15 0,19 3 repeats

0,58 0,32
0,25

A 0,34 0,40
1 Y 045 047

log AL luminance difference Lg:6’3m,ng

threshold
Xy
experiment:

AD0,1s A

0,15 0,19 3 repeats

0,58 0,32
0,25 0,44

1 Y 045 047

log AL Ilﬁminan%e difference nge,scd/n?

threshol

Xy
A 0,34 0,40 experiment:
AD0,1s Y

0,15 0,19 3 repeats

0,58 0,32
0,25 0,44

log AL luminance difference nge,scd/n?

threshold

Xy

A 0,34 0,40 experiment:

4 Y 045 047 Appi1sB

0,15 0,19
0,58 0,32
0,25 0,44

3 repeats

A 0,34 0,40
1 Y 045 047

log AL luminance difference nge,scd/n?

threshold
Xy
experiment:

AD0,1s G

0,15 0,19 3 repeats

0,58 0,32
0,25 0,44

1 Y 045 047

log AL Iuminant(:je difference nge,scd/n?

threshol

Xy
A 0,34 0,40 experiment:
AD 0,1s A,B

0,15 0,19 3 repeats

0,58 0,32
0,44

log AL luminance difference nge,scd/n?

threshold

Xy

A 0,34 0,40 experiment:

LY 045 047 Apg1sAG

0,15 0,19
0,58 0,32
0,25 0,44

3 repeats

log AL luminance difference
threshold
X oy

A 0,34 0,40

] vy 045 047

0,15 0,19

0,58 0,32

0,25 0,44

experiment:
AD0,1sAY
3 repeats

Lg=6.3cr/nf

log AL luminance difference
threshold
Xy
A 0,34 0,40
] vy 045 047
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
AD 0,1s AR
3 repeats

Lg=6.3cr/n?

log AL luminance difference
threshold

X y
A 0,34 0,40 experiment:
4 Y 045 047 ypoisaY
0,15 0,19 3 repeats
0,58 0,32
0,25 0,44

Lg=6.3c/n?
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TES520-7N_3 TE520-8N_3 TE521-7N_3
TE520-7N

TUB-test chart TE52; threshold daaramopolos (89) _  input: w/rgb/cmyk —> rgly
presentation time tp=0,1s, 4 observers, 3 repeats, 6,3cdfiitput: no change
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Rttp://130.149.60.45/~farbmetrk/TE5 2/ TES2LONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 4/9

log L/AL luminance contrast
sensitivity threshold

T experiment:
KR 0,1s A
4 3repeats

0,25 0,44

log L/AL luminance contrast -
sensitivity threshold L g=630cd?

T experiment:

BM 0,1s A ..’:" A 0,34 0,40
41 3repeats '." Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

log L/AL luminance contrast
sensitivity threshold

T experiment:
KR 0,1s Y
4 3repeats

0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast -
sensitivity threshold L g=630cd?

T experiment:
PO 0,1s B
4 3repeats

-3 -2 -1 [0)
TES20-7N_4
TE520-7N

TUB-test chart TE52; threshold da&aramopolos (89)

log L/AL luminance contrast -
sensitivity threshold L g=630cdinf

AR

S
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

T experiment: | o
PO 0,1s A A
1 3repeats

é x=logL

log L/AL luminance contrast -
sensitivity threshold -g~630c¢/ rt

o
et :
T experiment: B \&; y\
AD0,1s A & A 034 040
1 3repeats ."Q Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

log L/AL luminance contrast -
sensitivity threshold -g~630c¢/ t

T experiment:
AD0,1s Y
4 3repeats

0,25 0,44

é X=logL

log L/AL luminance contrast | _
sensitivity threshold Lg=630cd/n?

T experiment:
AD 0,1s B
41 3repeats

TE520-8N_4

presentation time tp=0,1s, 4 observer

s, 3 repeats, 630ca(i

log L/AL luminance contrast -
sensitivity threshold L g=630cdinf

T experiment: X y

BMO0,1s R A 0,34 0,40
1 3repeats Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é X=logL

log L/AL luminance contrast -
sensitivity threshold -g~630cd/ rt

T experiment: 3 y

AD 0,1s G A 0,34 0,40
| 3repeats Y 0,45 047
0,15 0,19
0,58 0,32
0,25 0,44

log L/AL luminance contrast
sensitivity threshold

T experiment:
AD0,1s A,B
4 3repeats

0,25 0,44

é X=logL

log L/AL luminance contrast -
sensitivity threshold -g~630cd/ t

T experiment:
AD 0,1s A,G
41 3repeats

input: w/rgb/cmyk —> rghy

log L/AL luminance contrast | _
sensitivity threshold -g=630¢d

T experiment: X y

AD 0,1s R A 0,34 0,40
1 3repeats Y 0,45 047
0,15 0,19
0,58 0,32
0,25 0,44

log L/AL luminance contrast
sensitivity threshold

T experiment:
AD0,1sAY
4 3repeats

log L/AL luminance contrast
sensitivity threshold

T experiment:
AD 0,1s AR &
1 3repeats N

" A 034 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

log L/AL luminance contrast
sensitivity threshold

T experiment:
KR 0,1s AY
4 3repeats
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Rttp://130.149.60.45/~farbmetrk/TE5 2/ TES2LONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 5/9

log L/AL luminance contrast  _
sensitivity threshold L g=63cdin?

N3N
T experiment: 'Qi?& :y

KR 0,1s A A 0,34 Q40
1 3repeats Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

T experiment:

BM 0,1s A

4 3repeats
.

.

\

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

T experiment:
KR 0,1s Y
4 3repeats

0,25 0,44

é x=logL

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

T experiment:
PO 0,1s B
4 3repeats

-3 -2 -1 [0)
TES20-7N_5
TE520-7N

TUB-test chart TE52; threshold daaramopolos (89)
presentation time tp=0,1s, 4 observer

log L/AL luminance contrast | _
sensitivity threshold L g=63cdin?

$a0 Q‘ be
T experiment: o Ai“ ‘y
PO 0,1s A A 0,34 Q40
1 3repeats Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

T experiment:
AD0,1s A
1 3repeats

log L/AL luminance contrast -
sensitivity threshold L g=63cdin

AR
T experiment: . *'Q NNy
ADO,1sY A 0,34 0,40
1 3repeats Y 0,45 0,47
> 0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

T experiment:
AD 0,1s B
41 3repeats

TE520-8N_5

log L/AL luminance contrast | __
sensitivity threshold L g=63cdin?

T experiment:
BM 0,1s R
1 3repeats

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

T experiment: B y

AD 0,1s G A 0,34 0,40
| 3repeats Y 0,45 047
0,15 0,19
0,58 0,32
0,25 0,44

log L/AL luminance contrast
sensitivity threshold

T experiment:
AD0,1s A,B
4 3repeats

0,25 0,44

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

T experiment: Ch
ADO0,1sAG ' ‘

1 3repeats \‘\

TE521-7N_5

input: w/rgb/cmyk —> rghy

s, 3 repeats, 63cdutput: no change

log L/AL luminance contrast
sensitivity threshold

T experiment:
AD0,1sR
4 3repeats

0

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

LRI
T experiment: “.3 g\\y\
ADOISAY o*F A 0,34 (Y40
e —— Q\*‘ Y 045 0,47
0,15 0,19
058 0,32
0,25 0,44

2: x=logL

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

oy 3 & S
\y\
A 0,34 QY0
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

T experiment: o
ADOIsAR o™
1 3repeats A

log L/AL luminance contrast -
sensitivity threshold L g=63cdin?

T experiment:
KR 0,1s AY
4 3repeats

&
S
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Rttp://130.149.60.45/~farbmetrk/TE5 2/ TES2LONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 6/9

log L/AL luminance contrast | _
sensitivity threshold L g=6,3cdin?

T experiment:
KR 0,1s A
4 3repeats

¥ 0
A 0,04 (-40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

(:) : 2 x=logL

log L/AL luminance contrast , _
sensitivity threshold Lg=6,3cd/n?

T experiment: . y
BMO,1s A Ar0,.4 €40
4 3repeats Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast  _
sensitivity threshold Lg=6,3cd/n?

T experiment:
KR 0,1s Y
4 3repeats

log L/AL luminance contrast | _
sensitivity threshold L g=6.3cdin?

T experiment:
PO 0,1s B
4 3repeat.

3 2 -1 0
TE520-7N_6
TE520-7N

TUB-test chart TE52; threshold daaramopolos (89)
presentation time tp=0,1s, 4 observer

log L/AL luminance contrast , _
sensitivity threshold L g=6,3cdnf

T experiment: 2
PO 0,1s A A 0,34
1 3repeats Y 0,45
0,15
0,58
0,25

é x=logL

log L/AL luminance contrast | __
sensitivity threshold L6 3cdin?

T experiment: 3 y
ADO,1s A A 0,34 C 40
1 3repeats Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast | _
sensitivity threshold L6 3cain?

T experiment:
AD0,1s Y
4 3repeats

log L/AL luminance contrast | __
sensitivity threshold L6 3cain?

T experiment:
AD 0,1s B
1 3repeats

TE520-8N_6

log L/AL luminance contrast | _
sensitivity threshold L g=6,3cd/n

T experiment: Xy
BMO0,1s R A 0,34 0,40
4 3repeat . Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast | __
sensitivity threshold L6 3cain?

T experiment: Xy
ADO0,1s G A u,34 0,40
1 3repeats Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast | _
sensitivity threshold L6 3cain?

T experiment:
ADO,1sAP
4 3repeats

$,
A 0,54 €40
Y 0,45 0,47
0,15 0,19
0,558 0,32
0,25 0,44

é x=logL

log L/AL luminance contrast | _
sensitivity threshold L6 3catin?

T experiment: >
AD0,1s A,C A u,34
4 3repeats Y 0,45
0,15
0,58

é x=logL

TE521-7N_6

input: w/irgb/cmyk —> rghy

s, 3 repeats, 6,3cdftput: no change
Y

log L/AL luminance contrast | _ <
sensitivity threshold -g=0-3¢4/n*

T experiment:
AD0,1s R
1 3repeats

0

log L/AL luminance contrast | _
sensitivity threshold Lg=63cdint

T experiment: # y
AD 0,1s AY A 0,87 :C40
4 3repeats Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

2: x=logL

log L/AL luminance contrast |, _
sensitivity threshold L6 3cdint

T experiment:
ADO,1sA &
4 3repeats

2 y
A 0,34 C40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

2: x=logL

log L/AL luminance contrast , _
sensitivity threshold L g=6 3cdin

T experiment: 2
KRO,1s AY A Grod
4 3 repeats Y 0,45
0,15
0,58
0,25
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Rttp://130.149.60.45/~farbmetrk/TE5 2/ TES2LONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 7/9

L/AL luminance contrast
sensitivity threshold

401 X Y

A 0,34 0,40 experiment:

| Y 045 0,47 kR 1sA
0,15 0,19 ’
0,58 0,32

20T © 0,25 044

301

3 repeats

Lg=630cd/n?

TE520-1N_7
L/AL luminance contrast
sensitivity threshold
40T X Y
A 0,34 0,40 experiment:
304 ¥ 045 047 Bvo1sA

0,15 0,19 3 repeats
0,58 0,32

20T © 0,25 044

10--

0

TES520-3N_7

L/AL luminance contrast
sensitivity threshold

401 X y
A 0,34 0,40 experiment:
304 ¥ 045 047 kroisy

0,15 0,19 3 repeats
0,58 0,32

20t 0,44

10--

0

TES520-5N_7

L/AL luminance contrast
sensitivity threshold

40T * Y
A 0,34 0,40 experiment:
30+ ¥ 945 047 poo1sB

0,15 0,19 3 repeats
0,58 0,32

20T © 0,25 0,44

TES520-7N_7

TE520-7N

TUB-test chart TE52; threshold da&aramopolos (89)

L/AL luminance contrast
sensitivity threshold

401 X y

A 0,34 0,40 experiment:

L Y 045 0,47 pg 0,15 A
0,15 0,19
0,58 0,32

20T 0,25 0,44

3071

3 repeats

TE520-2N_7

L/AL luminance contrast
sensitivity threshold

40T * Y

A 0,34 0,40 experiment:

304 ¥ 045 047 Apoisa

0,15 0,19 3 repeats

0,58 0,32

20T © 025 044

10--

0 .
-3 -2
TE520-4N_7
L/AL luminance contrast
sensitivity threshold
401 X Y
A 0,34 040 experiment:
L Y 045 047 Apgisy
0,15 0,19 :
0,58 0,32
20T « 0,25 044

301

3 repeats

10--

Lg=630cd/n?

0 .
-3 -2
TE520-6N_7

L/AL luminance contrast
sensitivity threshold

401 X VY

A 0,34 0,40 experiment:

1l Y 045 047 Apgisp
0,15 0,19 :

0,58 0,32

20T © 025 044

30

3 repeats

TE520-8N_7

presentation time tp=0,1s, 4 observer

s, 3 repeats, 630ca(i

L/AL luminance contrast
sensitivity threshold

401 x Y

A 0,34 0,40 experiment:

30+ ¥ 045 047 BMoasR

0,15 0,19 3 repeats
0,58 0,32

20T © 025 044

TES521-1N_7

L/AL luminance contrast
sensitivity threshold

40T *X Y

A 0,34 0,40 experiment:

304 Y 045 047 ApoisG

0,15 0,19 3 repeats

0,58 0,32

20T © 025 044

10--

0

TE521-3N_7

L/AL luminance contrast
sensitivity threshold

40T * Y

A 0,34 0,40 experiment:

304 Y 045 047 apoisaB

0,15 0,19 3 repeats

0,58 0,32

201 0,44

10--

0

TE521-5N_7

L/AL luminance contrast
sensitivity threshold

401 x Y

A 0,34 0,40 experiment:

304 ¥ 045 047 ApoisAG

0,15 0,19 3 repeats

0,58 0,32

20T © 025 044

input: w/rgb/cmyk —> rghy

L/AL luminance contrast
sensitivity threshold
40T X Y
A 0,34 0,40 experiment:
| Y 045 0,47 ApQ1sR
0,15 0,19 :
0,58 0,32
20T © 0,25 0,44

301

3 repeats

10--

0 4 4 .
-3 -2 -1 0
TE521-2N_7

L/AL luminance contrast
sensitivity threshold

40T X Y

A 0,34 0,40 experiment:

304 ¥ 945 047 Apoasay

0,15 0,19 3 repeats

0,58 0,32

0,25 0,44

TE521-4N_7

L/AL luminance contrast
sensitivity threshold

40T X Y

A 0,34 0,40 experiment:

304 Y 045 047 aApgi1sAR

0,15 0,19 3 repeats

0,58 0,32

0,25 0,44

TE521-6N_7

L/AL luminance contrast
sensitivity threshold

40T X Y

A 0,34 0,40 experiment:

304 ¥ 045 047 kRroasAY

0,15 0,19 3 repeats

0,58 0,32

20T © 0,25 044
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Rttp://130.149.60.45/~farbmetrk/TE5 2/ TES2LONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 8/9

L/AL luminance contrast
sensitivity threshold

40T X Y

A 0,34 0,40 experiment:

304 ¥ 045 047 kRo1sA .Y

0,15 0,19 3repeats Ny
0,58 0,32

20T © 0,25 0,44

Lg=63cd/n?

TE520-1N_8
L/AL luminance contrast
sensitivity threshold
40T X Y
A 0,34 0,40 experiment;,
30+ Y 045 047 gyg1sa” S

0,15 0,19 3 repeats
0,58 0,32 5

3
20T © 025 0,44 o

Lg=63cd/n?

338

10--

s
-1 0

0

TES520-3N_8

L/AL luminance contrast
sensitivity threshold

40T X Y >
A 0,34 0,40 experiment:
L Y 045 047 yRo1sy
0,15 0,19
0,58 0,32
20T © 0,25 044

Lg=63cd/n?

301

3 repeats :\
DA
\0

10--

oA
0 AALR .
-3 -2 -1 0
TE520-5N_8
L/AL luminance contrast
sensitivity threshold

40T * Y
A 0,34 0,40 experiment:
30+ ¥ 945 047 poo1sB

0,15 0,19 3 repeats
0,58 0,32

20T © 0,25 0,44

Lg=63ca/n?

TE520-7N

TUB-test chart TE52; threshold daaramopolos (89)
presentation time tp=0,1s, 4 observer

L/AL luminance contrast
sensitivity threshold

401 *x Y

A 0,34 0,40 experiment:

30+ ¥ 245 047 pogisa

0,15 0,19 3repeats +* s
0,58 0,32 8 \::
20T © 025 044 VX

Lg=63cd/n?

TE520-2N_8

L/AL luminance contrast
sensitivity threshold

401 X y
f(‘ 83;‘ 833 experiment:
30+ , ) AD 0,1s A XA

0,15 0,19 3repeats S,
0,58 0,32 LA
20T « 0,25 0,44

Lg=63cd/n?

10--

»
S

0 t .

-3 -2 -1 0

TE520-4N_8

L/AL luminance contrast
sensitivity threshold

40T *x Y
A 0,34 040 experiment:
| Y 0,45 047 Ap 01sY

0,15 0,19
0,58 0,32
20T « 0,25 044

Lg=63cd/n?

301 A :
3 repeat
- R.\\s\ 5
§V
> -

10--

TE520-6N_8

L/AL luminance contrast
sensitivity threshold

401 *x Y

A 0,34 0,40 experiment:

| Y 0,45 047 Ap 0,1s B
0,15 0,19
0,58 0,32

20T « 0,25 044

Lg=63cd/n?

301

3 repeats

TE520-8N_8

L/AL luminance contrast
sensitivity threshold

401 x Y

A 0,34 0,40 experiment:

30+ ¥ 045 047 BMoasR

0,15 0,19 3 repeats
0,58 0,32

20T « 0,25 0,44

Lg=63cd/n?

TE521-1N_8
L/AL luminance contrast
sensitivity threshold

40T *x Y
A 0,34 0,40 experiment:

304 Y 045 047 Apoisc
0,15 0,19 3 repeats
0,58 0,32
20T « 0,25 0,44

Lg=63cd/n?

10--

0

TE521-3N_8

L/AL luminance contrast
sensitivity threshold

401 *x Y
A 0,34 0,40 experiment:

304 ¥ 045 047 AppisaB

0,15 0,19
0,58 0,32
201 0,44

Lg=63cd/n?

R
3repeats . 2

10--

0

TE521-5N_8
L/AL luminance contrast
sensitivity threshold
401 x Y
A 0,34 0,40 experiment:
30% ¥ 24 047 Ap01sAGy
0,15 0,19 3repeats . & >

Lg=63cd/n?

0,58 0,32
20T © 025 044

TE521-7N_8

input: w/rgb/cmyk —> rghy

s, 3 repeats, 63cdutput: no change

L/AL luminance contrast
sensitivity threshold

40T X Y

A 0,34 0,40 experiment:

| Y 045 0,47 ApQ1sR

0,15 0,19 :
0,58 0,32
20T © 0,25 0,44

301

3 repeats

10--

(0] ¥ + $
-3 -2 -1 0
TE521-2N_8

L/AL luminance contrast
sensitivity threshold

40T X Y

A 0,34 0,40 experiment: (%
301 ¥ 0% 047 ApoisAviy
0,15 0,19 3repeat§\x,‘:
0,58 0,32 £
20T © 0,25

Lg=63cd/nf

TE521-4N_8

L/AL luminance contrast
sensitivity threshold

401 x
A 0,34 0,40 experiment: (%
304 ¥ 045 047 ApgisAR

0,15 0,19
0,58 0,32
20T © 0,25 0,44

Lg=63cd/n?

:§\
3 repeats AR

10--

TE521-6N_8
L/AL luminance contrast
sensitivity threshold

40T X Y W
A 0,34 0,40 experiment:

304 ¥ 045 047 ypgigavs
0,15 0,19

Lg=63cd/n?

0,58 0,32
20T © 025
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Rttp://130.149.60.45/~farbmetrk/TE5 2/ TES2LONA. TXT /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 9/9

L/AL luminance contrast
sensitivity threshold
401 X Y
A 0,34 0,40 experiment:
| Y 045 0,47 kR 1sA
0,15 0,19 ’
0,58 0,32
20T © 0,25 044

Lg=6,3cd/n?

301

3 repeats

TE520-1N_9

L/AL luminance contrast
sensitivity threshold

40T X Y

?82; 833 experiment:

30+ 0'15 0'19 BM0,1s A

o b 3 repeats

0,58 0,32

20T © 0,25 0,44

Lg=6,3cd/n?

10--

0

TES520-3N_9

L/AL luminance contrast
sensitivity threshold

401 X y

A 0,34 0,40 experiment:
304 ¥ 045 047 kroisy
0,15 0,19 3 repeats

0,58 0,32

20t 0,44

Lg=6,3cd/n?

10--

0

TES520-5N_9

L/AL luminance contrast
sensitivity threshold

401 X y

A 0,34 0,40 experiment:
30+ ¥ 945 047 poo1sB
0,15 0,19 3 repeats

0,58 0,32

20T © 025 0,44

Lg=6,3cd/n?

TE520-7N

TUB-test chart TE52; threshold daaramopolos (89)
presentation time tp=0,1s, 4 observer

L/AL luminance contrast
sensitivity threshold

40T X Y

A 0,34 0,40 experiment:

L Y 045 0,47 pg 0,15 A
0,15 0,19 :
0,58 0,32

20T © 025 044

Lg=6,3cd/n?

3071

3 reneats

TE520-2N_9

L/AL luminance contrast
sensitivity threshold

40T * Y

A 0,34 0,40 experiment:

304 ¥ 045 047 Apoisa

0,15 0,19 3 repeats

0,58 0,32

20T © 025 044

Lg=6.3cd/n?

10--

0 .
-3 -2
TE520-4N_9

L/AL luminance contrast

sensitivity threshold

401 X y

A 0,34 0,40 experiment:
304 ¥ 045 047 Apgasy
0,15 0,19 3 repeats

0,58 0,32

20T © 025 0,44

Lg=6.3cd/nf

10--

0 .
-3 -2
TE520-6N_9

L/AL luminance contrast

sensitivity threshold

401 X y

A 0,34 0,40 experiment:

L ¥ 045 047 Apoi1sB
0,15 0,19
0,58 0,32

20T 0,25 0,44

Lg=6.3cd/nf

301

3 repeats

TE520-8N_9

L/AL luminance contrast
sensitivity threshold

401 x Y

A 0,34 0,40 experiment:

30+ ¥ 045 047 ByMoisR

0,15 0,19 3 repea.s

0,58 0,32

20T © 025 044

Lg=6,3cd/nf

TE521-1N_9

L/AL luminance contrast
sensitivity threshold

40T *X Y

A 0,34 0,40 experiment:

304 Y 045 047 ApoisG

0,15 0,19 3 repeats

0,58 0,32

20T © 025 044

Lg=6.3cd/nf

10--

0

TE521-3N_9

L/AL luminance contrast
sensitivity threshold

40T * Y

A 0,34 0,40 experiment:

304 Y 045 047 apoisaB

0,15 0,19 3 repeats

0,58 0,32

201 0,44

Lg=6.3cd/nf

10--

0

TE521-5N_9

L/AL luminance contrast
sensitivity threshold

401 x Y

A 0,34 0,40 experiment:

304 ¥ 045 047 ApoisAG

0,15 0,19 3 repeats

0,58 0,32

20T © 025 044

Lg=6.3cd/n?

TE521-7N_9

input: w/rgb/cmyk —> rghy

s, 3 repeats, 6,3cdftput: no change
Y

L/AL luminance contrast
sensitivity threshold

40T X Y

A 0,34 0,40 experiment:

| Y 045 0,47 ApQ1sR
0,15 0,19 :
0,58 0,32

20T © 0,25 0,44

301

3 repeats

10--

(0] ¥ + $
-3 -2 -1 0
TE521-2N_9

L/AL luminance contrast
sensitivity threshold

40T X y
A 0,34 0,40 experiment:

304 ¥ 945 047 Apoasay
015 0,19 3 repeats
0,58 0,32

20T © 0,25 0,44

10--

Lg=6.3cd/nf

(0] ¥ + $
-3 -2 -1 0
TE521-4N_9

L/AL luminance contrast
sensitivity threshold

401 X y

A 0,34 0,40 experiment:
304 ¥ 045 047 ApgisAR
0,15 0,19 3 repeats
0,58 0,32

20T © 025 044

10--

Lg=63cd/nf

(0] ¥ + $
3 -2 -1 0
TE521-6N_9

L/AL luminance contrast
sensitivity threshold

40T *X Y

A 0,34 0,40 experiment:
304 ¥ 045 047 kRroasAY
0,15 0,19 3 repeats
0,58 0,32

20T © 0,25 0,44

Lg=63cd/nf

P
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